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A.e�Ôeµ%K�V�(ḈÐ3�\�ÛÏ�,¥@ 18�\�)

A-1. lim
x→2

x3 − 8
x2 − 4

= .

A-2. �<ÊÃº f (x) = (
√

x + x3)2012 _� �̧�<ÊÃº f ′(x) = s���.

A-3. &ñ
&h�ì�r
∫ 4

2

1
x(ln x)2 dx_�°úכ�Ér s���.

A-4. f (1, 2) = (−3, 1)s��¦, f (4, 1) = (1, 4)���{9�	����8̈� f \�@/
�

#�, f (2, 3) = s���.

A-5. ýa³ð/BNçß�_�[j&h�O(0, 0, 0), A(1, 2, 6), B(6, 2, 1)\�¦=�Gt�&h�Ü¼

�Ð
���H���y��+þA_�V,�s���H s���.

A-6. f����� 3x = 2y = z − 1õ���êøÍ
��¦&h� (1, 8, 3)�̀¦t�����Hf�����

s� î̈
��� x + y + z = 1õ�ëß�����H&h��Ér s���.

B.L±Ó¦�>%K�V�(ḈÐ7�\�ÛÏ�,¥@ 49�\�)

B-7.
∞∑

n=1

n2

2n = .

B-8.
∫ π

4

0

sin x − cos x
sin x + cos x

dx = .

B-9. f (x) =
∫ x

1

sin t
t

dt {9�M:,
∫ π

1
f (x)(sin x + x cos x)dx _� °úכ�Ér

s���.

B-10. y = sin x (éß�, 0 ≤ x ≤
π

2
)ü< y»¡¤, y = 1�ÐÑüt�Q�����%ò
%i��̀¦

y»¡¤ÑütYU�Ð�r���r����{9��̂_�ÂÒx���H s���.

B-11. ýa³ð/BNçß�_�éß�0A½̈��� x2 + y2 + z2 = 10A_�1lx&h� Pü<&ñ
&h�

A(1, 0, 0), B(0, 1, 0), C(0, 0, 1)\�@/
�#� 2PA
2
+ PB

2
+ 3PC

2

_�þj5Åw°úכ�Ér s���.
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B-12. ýa³ðî̈
���_� ]j 1 ��ì�r���\�"f /BG��� x
2
3 + y

2
3 = 1 \� ]X�
���H

f�����s� x-»¡¤õ�ëß�����H&h��̀¦ P, y-»¡¤õ�ëß�����H&h��̀¦ Q��
�

���, ���ì�r PQ_�U�́s���H]X�&h�_�0Au�\��©��'a\O�s�{9�&ñ
�<Ê�̀¦

�Ðs�r��̧.

B-13. ýa³ðî̈
���\�"f ²ú©6£§q���
1
2
��� ²ú©6£§���8̈��̀¦ h, "é¶&h��̀¦ ×�æd��

Ü¼�Ð
π

3
ëß��pu�r���r�v���H�r������8̈��̀¦ g��½+ÉM:,½+Ë$í
���8̈�

f = g ◦ h\�¦����?/��H'��§>=�̀¦ ½̈
�r��̧.

&h� Pn(xn, yn)�����8̈� f \�_�K�s�1lxô�Ç&h��̀¦ Pn+1(xn+1, yn+1)

s���
��¦,���ì�r Pn−1Pn_�U�́s�\�¦ sn s���
���. &h� P0(1, 0)

s�ÅÒ#Q&���̀¦M:

∞∑
n=1

s2
n _�°ú̀�כ¦ ½̈
�r��̧.

C.ÐÏ��ª%K�V�(ḈÐ11�\�ÛÏ�,¥@ 33�\�)

C-14. ½̈çß� [0, 2] \�"f &ñ
_��)a ¿º ��� p�ì�r��0pxô�Ç �<ÊÃº f (x) \� @/


�#� f (0) = 1, f (1) = 2, f (2) = 4��$í
wn�
����, f ′′(c) = 1 �̀¦

ëß�7á¤r�v���H &h� c �� \P��2;½̈çß� (0, 2) ��s�\� �>rF��<Ê�̀¦ �Ðs�

r��̧.

C-15. �̧��H&h�\�"fp�ì�r��0px
��¦, f ′(0) = 1s� 9, �̧��Hz�́Ãº x, y

\�@/
�#�

f (x + y) = e2xy f (x) f (y) > 0

�̀¦ëß�7á¤r�v���H�<ÊÃº f (x)\�¦ �̧¿º ½̈
�r��̧.

C-16. ýa³ð/BNçß�\�"f ìøÍt�2£§_� U�́s��� 1 s��¦, xy-î̈
���\� î̈
'��ô�Ç

"é¶óøÍ_�×�æd��s��íÓüt���

z = y2, −1 ≤ y ≤ 1, x = 0

0A\�"f¹¡§f��{9�M:,s�"é¶óøÍ_���2[_�ÂÒx�\�¦ ½̈
�r��̧.
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